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Instruction :

(b)

(1) All questions are compulsory.
(2) Marks are indicated on right side.

Explain Spearman’s Rank correlation coefficient

method.
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Find out the Karl Pearson’s correlation coefficient [10]

from the following data.
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What is correlation ? Explain its types.
For given data find rank correlation coefficient.
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State the properties of regression coefficient.
For the given data obtain both the regression
equations.

x =12, y =5 o0,=8 0, =2 1=08
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OR
Explain the difference between Correlation and
Regression.
4x — by + 33 = 0 and 20x — 9y — 107 = 0
are the two regression lines. Find ¥, ¥y and r.

Prove that :
P(AuB)=P(A)+P(B)-P(PnB)
If P(A) = 06, P B) = 0.5 and P(AUB)= 08

then find P(4nB), P(A'nB') and P (A/B).
OR

(A) r.v. x has the following prob. distribution.
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State the properties of binomial distribution.
For a binomial distribution n = 4, P (x=1) =
P (x=2). Find P (x=0).

OR
State the properties of normal distribution.
For a normal distribution Q1 = 73 and M = 83
then find quartile deviation, standard deviation
and mean deviation.
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